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#include <avr/io.h>
#define F_CPU 10000000UL
#include <util/delay.h>
#include <avr/interrupt.h>

void outl(void);

void outh(void);
void startbit(void);

void stopbit(void);

int TIMFLG = 640;
int a=0;

int b=0;

int c=0;

int d=0;

int e=0;

int f=0;

int g=0;

int h=0;

int botan=0;

//static int kaisuu = 0;

ISR(PCINT vect)

/723

iT((~PINB & (1<<PB0)) == (1<<PB0)) // a PBO

a=1;

%f((~PINB & (1<<PB1)) == (1<<PB1)) // b PBL

~

b=1;

-

iIT((~PINB & (1<<PB2)) == (1<<PB2)) // ¢ PB2

~

c=1;

%f((~PINB & (1<<PB3)) == (1<<PB3)) //  d PB3

d=1;

if((~PINB & (1<<PB4)) == (1<<PB4)) // e PB4

e=1;

%f((~PINB & (1<<PB5)) == (1<<PB5)) // f PB5

f=1;

if((~PINB & (1<<PB6)) == (1<<PB6)) // g PB6

9=1;

%f((~PINB & (1<<PB7)) == (1<<PB7)) // h PB7

h=1;

}
int main(void)

DDRB &= 0x00;
PORTB |= Oxff;
DDRD |=0x01;

GIMSK ]=0x20;
PCMSK |=0xff;

TCCR1A
TCCR1B

0;
2;

int i;
sei();
while(l)
{

if(a==1)
{

by
if(c==1)
{

//0b00100000
//0b11111111

startbit();

outl ();outi () ;outl();outh();

stopbit();
_delay_ms(10);

startbit();

outl ();outi () ;outh();outlQ);

stopbit();
_delay_ms(10);

startbit();

outl ();0uti () ;outh();outh();

stopbit();
_delay_ms(10);
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startbit();
outl();outh();outl();outl();
stopbhit();

_delay_ms(10);

1
if(e==1)
{

startbit();
outl();outh();outl();outh();
stopbhit();

_delay_ms(10);

e=0;

1
if(f==1)
{

startbit();
outl();outh();outh(Q);outl();
stopbhit();

_delay_ms(10);

T=0;

if(g==1)
{

startbit();
outl();outh();outh();outh();
stopbit();

_delay_ms(10);

startbit();
outh();outl();outl();outl();
stopbhit();
_delay_ms(10);

h=0;

¥
a=0;b=0;c=0;d=0;e=0;1=0;9=0;h=0;

}

void outl()
TCNT1 = 0;
while(l)

PORTD &=0xfe;
if(TCNT1> TIMFLG+220)
break;

}
.
void outh()

TCNT1= 0;
while(l)
{

PORTD |=0x01;

_delay_us(13); //10
PORTD &=0xfe;

_delay_us(13); //10
if(TCNT1> TIMFLG)

break;

}
¥oid stopbit()

outh();
outl();
outh();
outl();
outh();

}
void startbit()

outhQ);
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